Intersection of a Line and a Plane

Start by considering the geometric possibilities for the intersection of a line and a plane.
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Examplez
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Example 3

line: (3 4+ 14s,—2 — 55,1 —35) andplane:x+y+3z2—4=0
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Intersection of Two Planes

Start by considering the geometric possibilities for the intersection of 2 planes. Include specific properties of

each plane that would help you determine the scenario.
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Example 1 —_— ———————
Find the point of intersection of the planes 2x-2y+5z+10=0and 2x+y—-4z+7=0.
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Example 2

Find the intersection between the planesx+y+z—1=0 and 2x—3y-z+2 =0
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Example 3
Solve the system of equations below:

8x+4y—3z+6=0 ﬂ,: ( l) L//_3>

2x+8y-62—-9=0 nz - c,)) %)-6)
No So(u’ll.of\

1) -2) -3 =0
-3 ZO



Example 4
Find the point of intersection between the planes 3x—5y—z+ 2 =0 and 9x— 15y - 37 0
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Text page 497 #4a,5a,7 and page 517 #6,7,8,9
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